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Important Instructions: N

There are 50 sample questions for each class while the actual paper will be of 100 questions

Question paper is divided into 5 sections — Accountancy, Economics, Business Studies, English & Logical
Reasoning

Every question has 1 correct answer

There will be no negative marking

All questions carry equal weightage

Duration of actual exam (with 100 questions) will be 2 hours
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OMR sheet before leaving the exam hall

In the actual exam, additional 10 minutes will be provided for reading the instructions and filling the OMR sheet.
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Section A - Accountanc ol &
y ) R e e 1 el e

Ways in which incoming partner may acquire HQ@HT%%EEI);WW% IEEL
his share except : & - ATE IR Tl
a. From one or more partners (not from all I A S

partners) (T Tt 31?{'3:3‘“?‘:}35?) %Eﬂﬁwqﬁ
b. From the old partners in their new profit ATen] S

sharing ratio @ R :ilzﬁﬂlﬁga@ﬁwﬁlﬂqlq% a@fg&c @Tqﬂgﬁ TR
c. From the old partners in some agreed ratio (:l'ém 'ﬁ[&ﬂ?ﬁ% ) P SIEELL

d. From the old partners in their old profit
sharing ratio

for T A 3 aTel WISiER &1 A4 fau e

fqeed! & SfaTar ST fea Uit g ahel o

(Q)Qa?mermlmﬂa@r@r @t ggaifial @

@)Wﬂ@ﬁﬁmﬁwwna@aﬂ

&Iﬂmﬁ

@ & TeHd U H R YNGR I

) gﬂﬁ TRl ¥ 396 RA ATY A0l
3fgurd |

Admission of a partner is one of the mode of

reconstituting the firm under which

a. New partnership ended and old one
between all partner (including new
partner) comes into existence

b. OIld partnership ended and new one
between all partner (including new
partner) comes into existence

c¢. Old partnership ended and new one
between all partner (excluding old partner)
comes into existence

d. Old partnership ended and new one

A and B are partners in a firm sharing profits in
the ratio of 2 : 1. They admit C as a new
partner for 1/5 share. New Ratio of A and B will
be 1: 2. Sacrificing ratio will be:

a. Sacrificing ratio 1 : 1

b. Sacrificing ratio 3 : 5

c. Sacrificing ratio 2 : 1

d. A’s Sacrifice 6/15 and B's Gain 3/15
TSR & 2: 1 & 3gurd ¥ U BH | |18 gA1th
F arsfer 813 1/5 R & fow &t &) v =
TG ST 8 | T 3R ot &7 =77 3101 1: 2
BT | AT 34T INTT:

(Q) AT 3AFUId 1: 1

(@) TR 3UTd 3: 5

(&) T U 2: 1

(S1) THT AR 6/15 3R ot BT AH 3/15
Goodwill Given in the old Balance Sheet will
be:

a. Credited to old Partners Capital accounts
b. Distributed by Gainer partners

c.  Written off by the oldpartners

d.  Written off by the Sacrificing partners

between all partner (excluding new wmmigm
partner) comes into existence UCIEL )
T U TIRER P RN ST, BH & Gvia (@ et iRy ST fa
P U il & Forgd ded (@ IR e R ¢ T STd fear Srar g
(@ 7S TR 99T 81 TS iR It U (U () N B 3T FEHERT §RT ¢ W ST
et wfga) & e R OReR sk § fea < &
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5.  The capital which is part of the uncalled capital
of the company which can be called up only in
the event of its winding up it is called
a. Nominal capital
b. Reserve capital
c. Issued capital
d. Authorized Capital
Goht STt Ot Y SRS dolt & fwn § o
3 GATA &34 ! FRufa 7 &1 garan o Joba &
(@) AHiferd goit
@l SR Bftea
SUSIRES]

@M SHfIPpd bited

6.  Securities premium account can be utilized:

a. To pay the dividend to the equity
shareholders

b. To create the General Reserve

c. To Distribute it among the promoters
To write off the preliminary expenses

m{%mmwwmww%
(@) 3B/ AT IRYRD] Dl ATHIRT DT YT
B & forg
(sih) FHY TG S & fog
(& 3 GHIeR] & g fadRd &= & forg
(S 3Rfties oY b1 fera
7.  Which of the following is not shown under the
heading of Reserves and surplus?
a. Bills of exchange
b. Capital Reserve
c. Securities Premium Reserve

d. Statement of g rofit and loss

Fofifed & 9 oF a1 31w ok W9 & 2y
& Tgd ! faama a1 g7
@ fafma o=
(h) doit T=a
& gfayfa shftraa =
@ T 3R B1H &7 faaRor
8. Claim against the company not yet
acknowledged as debt, is a.....
a. Provisions
b. Current Liability
c. Contingent Liability

10.

11.

d. Reserve and Surplus

SN DI 3t Tb B b TU H WIHR a1 fba
T B, $T% RIS TR |

(@) U1aYyr=

(@ o< e

(@l 3T T

@ Rord iR sifaRiy

Deferred Tax Asset is treated as:

a. Current Assets

b. Fictitious Assets

c. Liquid Assets

d. Fixed Assets

eI = Fufr &I AT ST 3

(Q) IHH Y

(&) Wil Huf

(g e Huf

@ fras ey

Low ‘Working Capital Turnover Ratio’
indicates:

a. Over-utilization of working capital

b. Under-utilization of working capital

c. There is no working capital

d. No use of working capital

S ‘BT USTl-3ATdd)/ THINaR SHUTT &
Tohd :

@ SR Yol o1 3ifere IuaT

@) FrIRie olt &1 w0 ITanT

@) P Prefeiia gof T 7

) PRI Goit BT Pl SUIRT Tal &

Section B - Economics

Currency depreciation occurs when

a. decrease in the domestic currency price of
the foreign currency

b. Increase in the domestic currency price of
the foreign currency

c. decrease in the price of the domestic

currency

d. Increase in the price of the domestic
currency

5T JE § BT 8
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12.

13.

14.

15.

16.

@ﬁ%ﬁﬁﬁ?{fﬁﬂ%@gﬁrqmﬁw

Flexible exchange rate is determined by
a. Demand for foreign exchange

b. Government

c. Supply of foreign exchange

d. Market forces of demand and supply

T fafmg @
fRuffa fear smar g
@ fac=h gar &t qi

% faceh ger & smyfd
el

(&) AT SR Y[ & IOR Tl

During deficient demand,

a. Market price is lower than the equilibrium
price

b. Market price s
equilibrium price

c¢.  Market price is same as the equilibrium
price
None of these

amﬂa%nm%ﬁaw

(¥ ST9R Hed g H\Fq@{ao‘q%

@) TR G Ida 9o ¥ % §

&) TR G FHH Jod & T 8 1

@) TH A IS Te!

Which of the following is a component of Net

factor income from abroadis

fafafad & ¥ $F 1 3 F1 IS HRS AT H

T UCH §

a. Net compensation of employees

b. Net subsidies

c. Net current transfers

d. Net indirect taxes

Autonomous consumption is assumed to be at

a. High level of Income

b. Zero level of Income

c. Low level of Income

d. Maximum level of Income

The important factor influencing the

propensity to consume in an economy is

higher than the

17.

18.

19.

a. The level of consumption
b. The level of income

c. The level of investment
d. The level of savings

SRy & IGURT TR B UghT @I gHIfad

XA a1 FEaYY] HRP §

(@) WUd DT IR

(efl) 31T BT TR

GDREERUCIRSN

E)EESKIRSH

The savings function derived from the

consumption function c = —a + by is

a.S=Y-(a+ b)Yy

b.S=Y + (a+ bY)

c.S=-a+ (1-b)Y

d.S=Y-(a+bY)

gﬂﬁﬂnﬁs@rmwm—s’c = -a + GNI

(QTH = T - (T + o I

) TH = T + (T + S

@ T = T+ (1) TR

©) T =R - T+ §lY

The slope of the saving function gives the

a. The amount of dissavings done when
there is zero level of income.

b. Increase in savings per unit increase in the
income.

c. The amount of dissavings done when
there is high level of income.

d. The amount of savings done when there is
high level of income.

TId YARIE B o T 8

@ 9§ LI R P MW BN 8, 99 U M

fage ot af

@ 3ma ¥ gfg ufd gfe # s=a 4 gfs

i) ﬂ%a S WR B S il § dl faged B

) T DI AR e I TR B 31 et §

The coefficient (1 — b) is also known as

a. MPS

b. K

c. 1—MPS

d. MPC
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20.

21.

22,

0T (1 - o) U F f S S 8
(@ gAdiTy

@ ®

@ 1 - TAdiTy

(S TAdI

Budgetary policies relate to

a. Taxes only

b. Taxes and public expenditures
c. Public expenditures only

d. Direct Taxes

(@) B Had

@ BRI SR "D T
CHEEERIEEIREACsL

(@ T

Section C - Business Studies

Management should find “One best way” to

perform a task. Which technique of scientific

management is defined in this sentence?

a. Method Study

b. Time Study

c. Motion Study

d. Fatigue Study

Ut Bl B P & U T 3] DT

QST F1feT | $9 a1ag B fordt afes Ueied ot

dobiie 1 aRHIG fobar T 82

@ fafer srezm

(ofl) JHY 3T

(& TIfer 3reT

(S) YehT 3T

Which of the following statements is FALSE

about Taylor and Fayol?

a. Fayol was mining engineer whereas Taylor
was a mechanical engineer

b. Fayol's principles were formed through

23.

24,

c. Fayol's principles are applicable at the top
level of management whereas Taylor's
principles are applicable at the shop floor.

d. Fayol's principles are applicable in
specialised situations whereas Taylor's
principles have universal application

SR 3R BU & IR # FEferad # 4 3 @

qaqe TTAd 82

(@ B G SOl Y, STaih CeR T TifAd
ESIGRIE]

@ Ha & Rigidl &1 6l srgya & Wik
FHIIT T T F&feh ¢aR o Riidl BT YT &
A1 A ST T T

@ Fad & gl yded & Y TR R Ay
BId ¢ Said R & Rigid g™ & By |
ARLEId B

@ AT & Rigid faviy Ryfaal & a1 8 ©
STafdh CeR & RIgid A i sy &

If a firm has decided to sell its product on cash

basis only, it is part offirm? _

a. Objectives b. Method

c. Policy d. Procedure

3R U BH 7 30 IdE Pl The YR W

ST 1 Baer {1 8, O o1 98 BH B g

@) fafer
REER
Which of the following is not a technique of
controlling?

a. Cash Flow Statement

b. Budget

¢. Managerial Audit

d. Break even analysis

frofafed & & SiF-u1 g0 3 de-iie T8 82
OEETAREIGIEERY

CESH

(@ UsyBIT 3HifSe

(SN T - SeTH fa=eryor

pgrsqnal experience  whereas  Taylor's 25. What is the first step in controlling process?
principles  were  formed  through a. Comparing actual performance with
experimentation standards
b. Analysing deviations
c. Measurement of actual performance
Class 12 (Commerce) Page 4
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d. Setting performance standards

foRizror Ofthar o gan wen & 87

(@) ARATGD TR B a1 ATHD! o T HRAT
CICENSEIRCEGENESS

() IRAfdH USRI BT ATGA

(S) Ue=H AF®! B FUfRd BT

26. Financial leverage is called favourable if:
a. If the degree of existing financial leverage
is low
b. Debt is easily available
c. Return on Investment is lower than the
cost of debt

ROl is higher than the cost of debt

ﬁ?ﬂﬂﬁﬂwﬁaﬁaﬁaj@m Fgl S &:
(@) Tfe Arger i S ot feh a @
@ BT I Y ITAH §

) Fa% R aH B B Ad T FH B
@& Y IR A4 U1 B ArTa I S ©

27. Financial planning arrives at:

a. doing only what is possible with the funds
that the firms has at itsdisposal

b. ensuring that the firm faces neither a
shortage nor a glut of unusable funds

c. minimising the external borrowing by
resorting to equity issues

d. entering that the firm always have
significantly more funds than required so
that there is no paucity of funds

farita e W e &:

(@) Pad 3ol BT BT GUIGT HIAT o IJuAS
Uolt ¥ ¥4 §

@) T8 IR BT b wH o T A B R SR
T &) 3oRIad Y=RIRT BT 3T 8

@) 3B gef R TERT Ao 16T IUR &I HH

DRAT
@) T P F U o5 B gHRN Savas U
Y 3P ¢ § NP & BT DIg HH A B!
28. Which of the following is not a function of
marketing?
a. Bending the
product
b. Product designing and development
c. Marketing planning

customers according to

29.

30.

d. Gathering and market

information
i & 9 & 91 fauue &1 il 18 22
(@) ITE & fo UTgeh! T FbTd fAep R Bl
@& IaTe e ol R
& fagur grerT
(@) TR Pt THGRI FHST 3R fazawor

Which act provides safeguards and reliefs to the
buyers of the goods in case the goods
purchased do not match with express or
implied conditions or warranties?

a. Consumer protection Act, 1986

b. The Indian Contract Act 1872

c. Sale of goodsAct, 1930

d. None of these

S WM WRiG T A R I A1 Sfdied
Ydl a1 AR & Y A ol @Nd, 39 HHA J
YA &b TG BT YR 3R ed a1 82

(Q) JUHIeRIT IR&f0T ifafAa, 1.9 86

@ YR ey fa=aH 1872

(& Aret ! faept aifafam, 19 30

@) 59 AP T

Consumers can ask anything regarding date of
manufacture, price, quantity etc., is an example
of

a. Right to be heard

b. Right to choose

c. Right to be informed

d. Right to safety

Ui fafafu, Faa, aer enfe &t fafy &
IR H 5% Yl U3 I&d §, 3P IR0 8

(@ TS O BT AABR

(aih) T BT 3HTBR

) e dRA BT SABR

(S) R&f T DR

analysing

Section D - English

Directions (Q. No. 31 to 34) Complete this
passage by selecting the most suitable
word/phrase from list to fit the corresponding

gap.
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31.

32.

33.

34.

One of the most brutal features of gender
inequality takes the form of physical violence
against women. The 31. __ of such violence is
remarkably high, not only in poorer and less
developed economies, but also in wealthy
and modern societies. Indeed, the 32. _ of
battering women even in the richest and

most  developed economies is  33.
high. Turning to India, it

must be 34. first that the

frequency of assaults on women is high in the

country and the society needs to do

something about it.

Which of these fits gap 31?

a. frequency b. occurrence

c. event d. chance

Which of these fits gap 32?

a. relatively b. clearly

c. undoubtedly d. astonishingly

Which of these fits gap 33?

a. accomplished

b. acknowledged

c. cleared

d. understand

Which of these fits gap 34?

a. expectations b. counting

c. incidence d. acceptance
Directions (Q. No. 35 & 40) Read the
following information in passage and answer
the questions given below.

Depletion of other minerals on a global scale
in some what difficult to determine, partly
becasue recycling complicates the issues,
partly because trade goes on in all directions
and partly because one material can
sometimes be replaced by another. Figures
from the US Geological Survey indicate that
within the US most types of minerals and other
non-renewable resources are well past their
peak dates of production. Besides oil, these
include bauxite (peaking in 1943), copper

35.

36.

317.

38.

39.

(1998), iron ore (1951), magnesium (1966),
phosphate rock (1980), potash (1967), rare
Earth metals (1984), tin (1945), titanium (1964)
and zinc (1969). The depletion of these
resources swiftly inspite of recycling.

In the past, it was iron ores such as natural
hematite (Fe203) that were being mined. For
thousands of years, also tools were produced
by melting bog iron, mainly goethite, FeO(OH),
in clay cylinders only a meter or so in height.
Modern mining must rely more heavily on
taconite, a flint like ore containing less than
30% magnetite and hematite.

Iron ore of the sort that can be processed with
primitive equipment is becoming scarce, in
other words and only the less-tractable forms
such as taconite will be available, when the oil
powered machinery has disappeared a chicken
and egg problem. To put it more bluntly with
the types of iron ore used in the past, a fair
proportion of the human race would have
been able to survive in the post-industrial
world. With taconite it will not.

What prevents the determination of depletion
of other minerals on a global scale?

a. Recycling

b. Trade goes on in all directions

¢. One material replaced by another

d. All of these

The depletion of which resources continues
swiftly in spite of recycling

a.oll b. magnesium
c. titanium d. All of these
Which was the ancient iron are being mined?
a. Fe203 b. FeO(OH)

c. Taconite d. Magnetite

Which of the following iron ore is found in in
less tractable forms?

a. Fe203 b. FeO (ore)

c. Taconite d. Magnetite
Which mineral became scarce in year 1984?

a. Copper

Class 12 (Commerce)
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b. Rare Earth metal c. 36 d. 40
c. Titanium 45, 22,33, 46, , 78,97
d. Zinc a. 60 b. 61
40. Which mineral became scarce in year 1966 and c. 62 d. 67
required recycling? 46. If POUND is written instead of DNUOP, what is
a. Magnesium written for MEGIK?
b. Potash gfd POUND &I DNUOP forar SIIdT 8 af MEGI
c. Zinc 7 foraT ST S
d. Copper a. KIMEG b. KIGEM
c. KGIEM d. KEGIM
Section E - Logical Reasoning 47. If REWOL is written for FLOWER, what is
written for MARKET? .
In the following questions 41 to 45 questions gfé REWOL @I FLOWER ferar S % al
numbers are arranged in a series with come MARKET ! 1 fora S
principles understanding it. One term in the a. TEKRMA b. TEKRAM
series is missing as shown by . This term is ¢. TEKAMR d. TEKMAR.
given as one of the alternative amongst the 48. If PCAT =_TACP and RBED = DEBR are written,
four numbers given below it. Find this term what is written for DCAB?
and show your answer against the question § PCAT = TACP and RBED = DEBR G DCAB
number on the answer sheet. R feregt S
ol wsl § 479 45 7y TR0 T e SNGACD b. ABCD
i afd @t B W R, ofEd # e e c¢.BADC _ d-ABDC
W%mmﬁmﬁawﬁﬂﬁ 49. If ABCD is written ZYXW in code language,
what is written for EFGH in code language?
41, 48,35, 24 83, U IS U H I ABCD @I zvxw ferar St
N b 15 & T EFGH &1 3T fera ST
c 16 d 12 a. VUST b. UTSR
42. 12,20,30, 42, |72 ¢. STUV - d.VUTS
a 50 b. 52 50. If in any language ROAST is written by PQYUR,
c 56 d.58 how SLOPPY is gxpressed?
43. 17,22 26,29 3 U BIg IO H UG ROAST &1 PQYUR feran
2 30 — b. 31 ST & T SLOPPY is 1 T feral S
J, d.29 a. MRNAQN b. NRMNQA
44. 144,100, 64, 16, 4 ¢ QNMRNA d. RANNMQ
a. 32 b. 34
Class 12 (Commerce) Page 7
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